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Jlgw palsiwl Q

No Limit | [ 1 BB =
. iy yidl Vsl
@ Solve the equation 5 +/x + 1 = x. S4HVxr+1 = x dalad ga

Ox=3,x=8 a
O x=8 b
O x=3 <
O x=-8x=-3 d




No Limit

o
®

l7\|1-1 H B

Which of the following describes the
possible end behavior of a

polynomial of odd degree?

O lim f(x) = o, lim f(x) = —o0

X——00

X——00

O lm f(x) = o, il_)?gf(x) = o
O lim f(x) = -, lim f(x) = —o0

X——00

O lim f(x) =3, limf(x) =3

Jlgw yolysiul

Wily >93] 3,08 Jlgl Juied

A (Saal) Akl Sglod) g b Laa
0aua,dl) dayal) e dad) dsalad




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. 392l 8yuiS Jlgall jlasVl sl
@ Find all of the zeros of the function ajall JL&..AH freT gj.

f(x) = x* + 5x% — 36. f(x) =x*+5x*-36
Ox=-2x=2,x=—-4i,x =4i a
Ox=-2,x=2,x=-9i,x=9i b
Ox=-3x=3x=-2i,x=2i <
Ox=-2x=2,x=-3i,x =3i d




I =

No Limit

A | ] -

@) Determine any vertical and

horizontal asymptotes for

xt -9

h(x) = yre R

1
x=—-1Lx=1y=—-
@) , Y ="7
1
@) x=—2,x=2,y=z

O x=-3x=3y=—-

1
O x xX=1y=7

Jlgw yolysiul

dui| Jlgadl Julxi

2 Ly Ay i daghd (o aia

xZ -9
ch(x) = Py




No Limit

I =

A | ] -

@) Solve the inequality:

2x+ 3
>
xX—2 =

O [-5,2]
O (—=,-5) U (2,%)
O (—,-5]U[2,»)

O (=, =5] U (2, )

Jlgw palsiwl Q

Gl Olgliall J>




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. gl JlgaJl
@) Determine the equation of the ey Lgal) e f(x) = 5% dllal) dlales ada

function f(x) = 5* after being il ) @laag 4 lewd) gad claag 3

translated 3 units left and 4 units

down.
O f(x)=5x+3_4 a
O f(x)=5"*-3 :
O f(x) =57 -4 ¢
O f(x)=5"**-3 d




Jlgw palsiwl Q

Notimit | [ || aubs | 1-1| B % B =
. (e i legll lgall s
@ Use the parent graph of f(x) = log x d g.\..a‘i'. Aol Jiiail) andiod

to find the equation of the function adlall dalaa J) Jagill f(x) = log x
j(x). J(x)
L\f(x)—logx |
=i =
\.\\‘\\‘k‘
L\
\\
v
O i(x) =log(x+1) 2
O j&x) = —log (x) b
© 10~ iog ) 'c
O j(x) =log(—x) ‘




Jlgw palsiwl Q

I =

No Limit

A |y 1

e legll yailas Gubs

@) Evaluate the logarithm: iS5l dad

3 log, V49 3 log, V49
O3 .
03 :
1
©3
o1 d




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. S¥sleall J>
@ Solve the logarithmic equation: &,u‘.h gl Aalaal) Ja

Inx+In(x+3) =1In28 Inx+In(x+3)=1In28
Ox=4 a
Ox=4x=7 b
Ox=-7,x=-4 Ie
Ox=-7 d




Jlgw yolymiul

Notimit | [ || aubs | 1-1| B % B =
. gyl deslil Oliliall J>
@) A company is installing a new ski lift AL L mae i Gl (gaa) gl

on a 225 m-high mountain that will gl sad (Jaa el 225 m gl Lo
ascend at a 48° angle of elevation. . 48° 8 eli)
Determine the length of the cable the O diaad dadd) dallan gl Jal) Jgha ada
lift requires to extend from the base Jaad) Al ) sacal)

to the peak of the mountain.

O x=303 m a
O x=203 m b
O x=336m IS
O x=167 m d
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No Limit
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A | ] -

8yl glias d>luso

@) Find the area of the shaded sector LU By} g Unb dablica aa gl

of the circle.

SO

751

O -4 m a
15m

O 5 mz b
751

0 2= m? :
3 m
15

O == m? d
2 m
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A |y 1

duiliall cuuddl pu8 Sl

@) Find the value of the expression: tyardl) Aasd g

7T
71T
CcCOoS—
C0OS—
6 6
1
©-2
o0 :
2
1
O3
o_V3 )
2




Jlgw yolymiul

Notimit | [ || aubs | 1-1| B % B =
. casall Jlga) Syl Jiad
@ Write a sinusoidal function with the dacdly 8y gall aladiabs dana dlla )

given period and amplitude and that Blanal) el paig oLl (pSataall
passes through the given point. 47T 359l
period: 41 2 :daud)
amplitude: 2 (1, 2) :4daadl)
point: (T, 2)
O Yy =2sin(x +4m) a
X
O y=-2sin— b
Y 4
X
O y=2sin= <
2
X
Oy=4m sin d




I =

No Limit

A | ] -

@) Find the value of the expression:

cos(tan™11 —sin™11)

o V2
2
o V3
2
oV3
2
o_V2
2

Jlgw yolysiul

duilioll Jlgadl sy

) Ao aa g
cos(tan™11 —sin™11)
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A | ] -

@) Simplify the expression:

sinx cscx
cotx

O sinx

O tanx
O secx

O cosx

Jlgw yolysiul

18 gea b i) J3a

sinx cscx
cotx
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@) Which of the following is equivalent
4 4

W | pdws | 1-1

to sin*x — cos*x?

O 2sin?x -1
O cos?x—-1
O 2sin’x+1

O sin’x—1

Jlgw yolysiul

diliall Olilniell 4o

tsin®x — cos®x Gsluw b Las
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Notimit | [ || aubs | 1-1| B % B =
. diliall OVslzall Jo
@) Find the x-intercepts of the graph ) Jaiaill x gﬁ‘m Lol g adalist) gl

shown below on the interval [0, 27]. . [0, 27r] 5580 A oLai piagall
y . 5
y =sIin” X Cos X — COS X
‘I___
- i
N X
-1
T 31
O -, — 2
2 2
T
— b
O 2
T
O — — <
4 4
T 31
O 0,—,7,71' d
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I =

No Limit

A |y 1

G)lg £ gezall OlUnio

@) Find the value of the expression: :yuaril) Aol aa

tan 38" + tan 22° tan 38" + tan 22°
1 —tan 38°tan 22° 1 —tan 38°tan 22°
@) ! .
V3
o V3 ;
2
o1 ¢
O V3 d




Jlgw yolysiul

I =

No Limit

A |y 1

i gl)l s

: ) 3 . 3 . .
@ If cos 0 = son the interval ( H,Z;rr), ¢ (2—”,211) 58l 2 cos B = % S 1)

2

find sin 20 . .sin 20 dud a0
8
O-3
24
O - b
25
24
O-3
8
I d
O 25
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A |y 1

ahz)l OVsleell dalail J>

@) Solve the system of equations: i aleal) ol Ja

—S5x+3y=7 —-S5x+3y=7
3x—y=-1 3x—y=-1
O (-14) 2
o (14 b
O (1,-4) c
O 4,1 d




